































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































o 2
on ek E= X+ >/IL+ X, +>§L+
AT

QSR K[:D(\I{/ %:sz)}z efe -








































































































































































































































































































































































































































































































































































































































































































































































































































@ s e pa«ﬁw&é\ﬁmw@ m (@&>
json e ST T Bdm

- L ) . 2.
E— A = P+ + P
£ 2 A 2 - 2.m























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































	td4 equipartition

